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BPVI-023 : FRESH MEAT TECHNOLOGY 

Time : 2 hours 
	

Mayimum Marks : 50 

Note : Answer any ,five questions. Que-ztion No. 1 is 

compulsory. All questions carry equal marks. 

1. 	Fill in the blanks - 	 1x10=10 

(a) Sarcolenuna forms a network of tubules 

called 

(b) Myofilaments are referred to as 

and 	filaments of myofibrils. 

(c) Thick filaments consist of the protein 

and thin filaments consist of the 

protein 

(d) is present in the greatest quantity 

on the walls of arteries, lymph vessels and 

the gastro-intestinal/reproductive tracts. 

(e) is the principal structural 

protein of connective tissue. 

(f) Trypsin splits myosin molecules into 

and 
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(g) accumulation causes a 

lowering of pH in the muscle. 

(h) Major unsaturated fatty acids in meat are 

and 

(i) Changes in water binding capacity depend 

upon the rate and extent of 	 

drop. 

(j) Cathepsins are held in organelles called 

(k) is the exudation of fluid from 

cooked meat. 

(1) 	 is the process to bring frozen 

meat to the normal condition. 

	

2. 	(a) How do the connective tissue septa take part 	3 

in muscle organization ? 

(b) What are the different types of muscle 	1 

fibers ? 

(c) Differentiate Red and White fibers. 	 3 

(d) Write a note on cordiac muscle. 	 3 

	

3. 	(a) What is rigor mortis ? 	 2 

(b) What do you understand by resolution of 	3 

rigor ? 

(c) What are the important changes in physical 5 

properties of meat postmortem ? 
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4. 	(a) What are the preslaughter factors that affect 	3 

quality of meat ? 

(b) What do you mean by hot processing ? 
	

2 

(c) What is PSE meat ? 	 2 

(d) Write note on - 	 1.5x2=3 

(i) eating quality of meat. 

(ii) water holding capacity. 

5. (a)  Write 	down 	the 	factors 	that 	affect 

myoglobin content of meat. 

2 

(b)  What do you mean by 'bloom of meat; ? 2 

(c)  Discuss the relationship between WHC and 

tenderness of meat. 

4 

(d)  Why the background toughness is less in 

meat from young animal than that from old 

animal ? 

2 

6. (a) What do you mean by meat cutting ? 2 

(b) Name the basic consideration for meat 

cutting ? 
3 

(c) What are the wholesale cuts of goat as per 

BIS ? 

(d) How does grading help the producer and 

consumer of meat ? 

4 
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7. 	(a) What are ideal ways of handling of corcass 	5 
and meat ? 

(b) Name different means of transport for 	2 

corcass and meat ? 

(c) What are the effects of transportation on 1 

meat ? 

(d) What are the requirements of a vehicle for 2 

meat transport ? 

8. 	Write short notes on (Any four) 

(a) Myosin 

(b) Plate Freezing 

(c) Freezer burn 

(d) Grading of meat 

(e) Tenderization by enzymes 

21/2x4=10 
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: 	g,c1 	W*. 	3711. q")rst 	 -47.-f/ 31"/T4T4 

77-V?* 	q4411 3I 

1. 	fi-717 T-qTqf *;-1 Trf4 	 : 	 1x10=10 

(a) Tir-47:47141 	cr;t 	 -F74 

(b) T1T74.1fcF7114.-P: A 31177i 	 311-T 

1 

F,-1-)cdilli,? 

y-,0[411 	-41,Ei-r 

	 ii1if 3-1) 4. 71,371.7- / 731-9-i Tuft' 

clITTTFT 4 

f-cm4-11-1*-cfr 
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(f) 	 ‘1-01  	3tr-{ 3-if 

t 1 

-'47-if 14 pH oh c 4-I 	 oh 	(11 

t 

(h) H 	31-#171 -171T 3-11=FSi 	  

(i) ?„,-1-17-d-1 	(ARac-i-r 	  

	

*1 7 ITT 	*-e4 

(J) 
	

ichi,isf 	F0M14-11-1 '*4fc:Ti 	of1(11cr 

t.  I 

(k)   , 4 	4) 	HI 	cirri ail fiTrp t 

(1) 
	

ITT-q ml t-114-11,-1 err 

rfw-zrr t 

2. 	(a) 	Tizl1" 371 cb 747T, 14711- 	-2 	14 	VT11 Q.11 	3 

(b) fq-fim 7-*—r-{*-47h-zr 	Vra. 	? 	 1 

(c) 01(4 	 74.d 	34-d7   1 	 3 

(d) -'47ft TR 	fti7l 	 3 

(g) 
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3. 	(a) Tffp.  mI1 	 i t? 	 2 

(b) 3117 qzfT 	? 	 3 

(c) 	 ohl 	-77 i2T if 	u 	Ala 	5 

	 ITT NollW 

	

4. 	(a) -44iTt q71  	ITTfd7 	q0; 	-a 	3 

(b) 4144 -51-457-01 	3-174 ri-qL-41:171-0 ? 	 2 

(c) 144 qztr t- ? 	 2 

(d) 	fruq : 	 1.5x2=3 

(i) a->1 

(ii) zIt-f 	--T1:171 I 

	

5. 	(a) 	TriT   1TNT 	31-trfa-ff 

-T-T-4 f-ffft§r7 I 

(b) 3-1IT 1717' -43-77 airrct t ? 	 2 

(c) Tft3arT 4-tiq 	4;i4dc-Rif 

-cui 

(d) 64A t -cRIA 	 .111- 	-44 -*Ft 34A TikrjA i 	2 

T64 	T4 (background) W*R71 c*0-1 	 6101 

t? 
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3-111:1*--117,17-71t? 2 

3 fcilRuikf f4s3-ff t 

i Tt .11,a 	#7tri 	z %TMT-A-r 

444:1*J̀Ct-11Ch 	1-1 -qrfff t 4 

5 s3-770c 

TI' 441 	lqfiT5T 2 

-wqra TTE t ? 1 

q79 	,--:#R9Trt 	? 2 

8. 	WT7-97 TiP,-)14 	iriPAL; : 

(a) Q-I 	 

(b) -Ora MTN-TT 

(c)  

(d) oh 	l 4 	 

(e) RI 1-Aciltul I 

21/2x4=10 
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